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A Fill in the blanks with the words given. There is one extra word.

bend —proud — posture — solar — predict )

V. Most children can ... and stretch their bodies without too much trouble.

Y. Exercise can make you feel ......., it means you'll feel better about yoursel.

Y. The national earthquake information centers may one day ......... earthquakes.

£ energy can be used to heat homes, buildings, water, and to make electricity.

B Match the definitions in column ( A ) with the words in column (B).
There is an extra item in (B ).

A B
o not excited : a. stance
1. something needed to keep a living thing alive and to b. calm
help it grow ¢. nutrient
v, general weather of a place over a period of time d. emphasize
f. climate

A, give all your attention to s.th,

C. Choose the proper choice.

5. 1f we do not find a good solution for the problem now, we will be .....up trouble for ourselves in
near future. (S, E, 37)

a, lifting b. keeping ¢. joining d. storing
Vo Youmustask ....... before taking any photographs from inside the church. (S, H, 37)
4. OVerpass b. posture ¢. instance d. permission

1. He ...... his belief that the system should be allowed sufficient time to work. (S, H, 1Y)

a. restated b. prevented c. distracted d. provided

VY. I tried to follow the .........., but I got confused.

a, instruction b. construction ¢, destruction d. distraction

Y, The success of the ..ivueiniin depends on our controlling the conditions carefully. (S, E, 17)
a. emergency b. experiment ¢. entertainment d. environment

V£, You really .....me when you mentioned my mistakes in the presence of my classmates. (S,R,11)
a. compared b. introduced c. generalized d. embarrassed
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v, She was greatly.............in the play and cried in the final act. ( S,Z,AY)
a. developed b. involved ¢. expressed d. contained

V1, This travel agency holds tours which provide a wide variety of outdoors ...........{S, E, 1Y)
4. occasion b. functions c. activities d. instructions

D). Choose the correct answer.

\¥_ He has not seen his old friends .......... he arrived here last week. ( S. R, 1)
a, while b. whether ¢. when d. since

VA, T am sure we will succeed and get the best result as we have worked............. (8, T}
a. such hard b. enough hard ¢. 50 hard enough d. hard enough

V4, May I ask you to help me ......this can?
4. opening b. opens C. open d. opened

1., 1 didn’t talk too much to the woman............ next to me on the plane.
a. sitting b. was sitling ¢. that sitting d. sits

Y1, I don't think [ am really......... for a hard job like that. ( S, E, 1Y )
a, experienced enough b, so experienced  c. such experienced d. too experienced

YY, People ...........in this area can enjoy the fresh air and peace.
a. living b. who living c. ive d. lived

YT, The teacher was ....... tired that he could not continue teaching. (S, E ,,AN)
a, 50 b. too C. Very d. such

Y¢, The horse that they let Jane ............ was the most beautiful animal | had ever seen. (S, Z, A?)
a. ride b. riding ¢. to ride d. rides

E. Fill in the blanks with correct forms of the words in paranthese.

vo_ Make your presentation interesting by...........the communicatin power tools. (use )
Y1, My brother makes me.........my physics problems on my own. (do)

™. Cars ...oo.uns a lot of greenhouse gases should be stopped by the police. ( release)
YA, Mazaheri makes all students ........ .a lot of cloze and text drills! ( do)

F. Rewrite the following sentences.

¥4 It was a hot day. We decided to go swimming. ( such...... thiitssu )

"+ The cars which are produced in Iran Khodro use a lot of fuel .{ adj, clause to adj. phrase )
The cars.............in Iran Khodro use a lot of fuel,
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G. SENTENCE FUNCTION

Match the phrases in column (A) with the phrases in column (B) to make meaningful

sentences. There Is one extra item in (B).
A B
). Diiringan eathquake. . .o ererssas: a. extinction of groups of animals
Y. Your heart is one hardworking part of b. pumping blood every day of your life.
your Body....oovieiiiinin ¢. stay calm,
Y. Practice your speech in front of a mirror........... d, keep eye contact and smile. :
T ¢, One of the possible effects of global warming is..  ¢.to check your way of presentation.

TA

H Comprehension. Read the following sentences and choose the best choice.

ro. Earthquake prediction is a future possibility and may some day will become a reality but only when

much more is learned about its mechanisms.

This means that predicting earthquake ...
a. isn't likely to happen in future.

b. may nol become a reality in future.

¢. is possible when we have enough knowledge about it.

d. is something we can’t do if we have knowledge about 1t

1. Global warming may be a big problem, but there are many things that we can do to make difference.

It is understood that ...t
a. there are different ideas on the problem of global warming.
!J, global warming can't be solv ed at all.
e, we can take some action to increase global warming.
d. we can have an active role in solving the problem of global warming.

TV Find a few friendly faces in the audience that react to your message and concentrate on giving your

speech to them. It means that you should.... R
a, find your friends among the audience and give g ucatulf::-. to them

b. find the faces which are kind and pleasant and take notes.

¢, concentrate on your friends’ faces only,

d. don’t speak to your friends who are among the audience.

 Aerobic is a word for needing oxygen and acrobic exercise is any kind of activity that makes your
muscles use oxygen,
a. oxygen makes aerobic exercise keep us healthy.
b. asrobic exercise make our bodies use oxygen.
¢. our body makes us do aerobic exercise.
d. muscles makes our bodies do aerobic exercise.

T4, Since your heart cannot lift weights to get stronger, it relies on you to do aerobic exercise,

We understand from this sentence that ............ciis
a. we are too much dependent on our heart.
b. our heart is dependent on us to become strong
¢. weight lifting needs strong heart
d. by aerobic exercise we breathe smoothly
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I Cloze test. Choose the best choice. (S, E. )
Try .(¢+)...make your oral report too long. Include only the most important points. Work
hard on your introduction and conclusion. These are what your ...(£)..will remember
most. The most important thing is to practice. Read your report out loud. Ifit is long,
(£Y)..._. it carefully to realize how to make it shorter. Try changing the tone of your voice
and the speed of your speaking. Next, read 1t to a small group of friends. Ask them to
_(¢7)...what they think you can do to make it better. If you want to be successful, these are
the steps you need to take whether you like it...(££)....

£+, a donot b. you not ¢. to not d. not to

¢). a. audience b. issues ¢. sample d. realities
Y, a, release b. predict c. examine d. rattle

£7. a. bother b. suggest ¢. enhance d. concentrate
¢§, a. or you not b. not c. does not d. or not

J. Comprehension
Read the passage carefully and answer the questions. (S, R, 1 r)

There must be a great many people who, either for lack of opportunity or of their own choice, did

not go to university and who, at a certain point in their lives, have regretted this gap in their education.
At this stage, few people could go to university even if they wanted, since they could not afford the
time of work. With the opening of the Open University, people are now able to take a university
degree, for the courses are especially designed so that you can study at home. However, you must have
aradio and a television set, for part of your course consists of two weekly programs. One of them is
broadcast on the radio and the other on the television, and they each last twenty five minutes. The new
university has not been in operation long enough to prove its success as a venture,, but it obviously
opens up the possibility of a university education to a much wider section of the population than has
ever received it.

¢o, According to the reading, most people who didn’t atlend a UNIVEISILY v vevmenaes .
a. wish they had done so b. are happy having done so.
¢. had the opportunity to find a job d. could not find interest in attending university.

¢1. According to the passage, the Open University is an opportunity for those who .........
a. like to watch TV programs.
b, don't like studying at university.
¢. have completed their university but still unemployed .
d. want to go to university but have no time to do that,

4V The word © venture” near the end of the passage is closest in meaning to..........
a. pattern h. gesture c. project d. guide

£A. According to the passage, the Open University .............
a. hasn’t had many students so far .
b. is not open to the people who don’t want to go out of their house.
¢. has proved that it is more advantages than other universities.
d. doesn't have a long historical background but certainly has the advantage of providing education
to more people.
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£4_What is the best title for the passage ? (outof:s, 1, 17)
a. The higher education in the US.
b, The Open university, a new opportunity.
¢. Education and work in the UK.
d. Irrelevant education systems.

Passage 7 (S, T, +):

Although all forms of communication have language, the word usually refers to the use of written
or spoken words,
Human language is the most complicated form of expression available to us. Simply to understand what
you are reading at this very moment involves much intelligence and skill. An adult speaks on average
..+« words a day and a total of 7+ + million words in an average life time. Language has a profound
effect on all our lives.

We learn language from childhood; we learn how to make sounds which can be formed into words,
and discover that we have to apply certain rules of grammar if we are to be understood. We learn to
say * He saw me” , but * I saw him” . The way of joining words together into grammatically acceptable
sentences are enormous. If you were to speak aloud all ¥ --word sentences that would make sense in
the English language. it would take you ten million years to do so.

When we use words, we are using symbols; the word “elephant” should refer to a large grey animal
with thick skin because speakers of the English language have agreed that this word should be the symbol
for that particular animal.

Sometimes there is disagreement about the meanings of words. Usually these words refer to ideas or
concepts, rather than to things. For instance (example) , not everyone agrees about the exact meaning
of words such as “freedom™ , “love” , ** justice™ , or peace”. If the sender and the receiver disagree
about these meanings, communication breaks down.

The study of the relationship between language and meaning is called Semantics. (S. T 3+ )

o+, The passage is basically intended to offer:

a. a definition of spoken communication

b, a description of language

¢. a comparison between written and spoken languages
d. an explanation of different forms of communication

5\ Which of the following is true , according to paragraph "7

a, Every individual uses at least T+, + + + words per day.

b. Intelligence and skill are two parts of human language.

c. The total number of words in most human languages is about - + million,
d. Far from being simple, what humans use to communicate is 50 complicated.

oX. The last sentence in paragraph T If you were to speak ....ten million years to do so0,” is intended
to prove that............x :

a. Language took a long time to develop into a complicated form.

b. Language has the potential to produce so many sentences.

c. One can say different things through the same words.

d. Ifone uses Y+ word _long sentences all the time, one would fail to communicate.

5T The writer refers to all of the following words about whose meaning there may somelimes be

disagreement EXCEPT.........:
a. peace b. justice c. freedom d. elephant
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¢ With which of the following conclusions (results) does the writer seem more likely to agree?

a. We need to make human language more simple.

b. Overuse of words may cause communication failure.

¢. there is not necessarily a natural relationship between words and meanings

d. People should study Semantics if they want their sentences to be grammatically correct.

GOOD LUCK. MAZAHERI
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) A Fill in the blanks with the words given. There is one extra word
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B Match the definitions in column (A ) with the words in column (B).
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C. Choose the proper choice.
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D). Choose the correct answer.
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. Fill in the blanks with correct forms of the words In parantethese.
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